@ Technicky vykres a zoznam nahradnych dielov

36616

‘36614

36617

KOD POPIS KOD POPIS

36610 BATERIA LI-ON 16V 36621 ELEKTRONICKA DOSKA REGULACIE
36611 NABIJACKA BATERIE 16,8V 2Ah 36622 IMBUSOVA SKRUTKA M5x12
36612 KRYT PRAVY 36623 PRUZINA K SPUSTI

36613 KRYT LAVY 36624 SPUST

36614 KRYT CENTRALNY 36625 HREBERNOVY PREVODNIK
36615 MOTOR S PREVODOVKOU 36626 CENTRALNA SKRUTKA CEPELI
36616 IMBUSOVA SKRUTKA M3x20 36627 0ZUBENA MATICA

36617 SKRUTKA M5x10 36628 IMBUSOVA SKRUTKA M5x12
36618 SKRUTKA M2x10 36629 ZAISTOVACI KRUZOK

36619 SPINAC 36630 VRCHNA POHYBLIVA CEPEL
36620 ELEKTRONICKA DOSKA 36631 SPODNA FIXNA CEPEL




